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Monthly averaged wind velocity by MF radar at Tromsoe for December 2016

North East

mean sigma = 26.852

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 28.069

0    4    8    12    16    20    0
-100

-50

0

50

100

103km

mean sigma = 27.085

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 28.242

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 27.512
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mean sigma = 24.831
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mean sigma = 21.747
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mean sigma = 20.480
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Monthly averaged wind velocity by MF radar at Tromsoe for December 2016

North East

mean sigma = 21.445
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mean sigma = 14.389
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